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Question Paper Code Q 2722

EXAMINATION, NOVEMBER/DECEMBER 2009.

B 5.8 Toch. DEGR
First Year — Annual Pattern
Gomputer Scionce and Enginceriog
MA 101 — ENGINEERING MATHEMATICS — I
(Common to all branches)

(Regulation 2004)

Time : Three hours Masimum : 100 marks

Answer ALL questions.
PART A — (10 2 = 20 marks)

ne
L 160815 aroeigonvaluesof A = . find the value of =
b )

2. Find the curvature of thocurve = +y* +42=1=0

o S 12 50 il o i ot it

Find the parteslar intogeal of &

ange e rtorfitagationin 2

6. Find the fangont plane at (6,4,8)to  + 3= +2% =54

4 Can x? 4 ~2y bothe real partof an amalytic funcion? Jusify your answer.




[image: image2.jpg]8 Find the residu at = - 0 of (z) =

9 Verify the initial value theorem given /1)
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10. What is the inverse Laplace transform of — 17
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PART B — (5 x 16 = 80 marks)

Show that tho line joining any point 0 on x - (0 sing),
7 =a0-c050) to its centre of curvature is bisccted by the ling

y=2a 10
(12 -2

Find tho faverse of A=|-6 ~1 2 | using Cayley Homilon
6 ey

theorem, ®
or

Foduco the. quadratic form ~+* 4% 45z +Azz o canonieal
form. @)

i the maxima and minima of f(x,) = sinxsin ysin(s +) given
O<xy<n. )

Sove 2211015 tantle by the mothod of variation of
parameters ®
Ditermine tho' bending curve 3(x) whero 5(x) satisis the

uation L PUom) o gy
differential equati &g B =0 aa &
x=0. ®
or
Solvo (07 +2D 4 1)y = ¢ v cnmr a7 11, ®

4 particle is executing a simplo harmonic motion 4%

dr
0% = @ and velocity v = 0. Find the timo taken to go from the
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Evaluate [[fasdydz ovor the volume cut ot the

#2152 = a* by the cone 57 4 57

®

A vectorfald ingivon by F = (-4 o) (25453 Shw thae
the ki ivoationl and i s el potatia, oo, couuen,
h line intagral rom (1,210 3, 1. ®

or

Find o and b o that. the surfaces ax'—bys = (a 4235 iy

orthogonal to 4x%y+2* - 4 a (1,1, 9), ©

Verily Stoke's theorem for ' = (y2)i + y2 - 12 where S i the
surface bounded by tho planes x =0, x -1, y

)3 =120 and
2 =1 above the 0y plano, a0

=

> and 2 Prove that both & and v satisfy

iy
Laplaco oquation, but that u 470 s not a egulr functionof = . (5)

Using Cauchys integral formela for darivatives, evaluate
=2 d where C is the circle |z|=2 ®
Je

or

when ] <1 ®

Find the bilinear transformation if 1 and i are fixed points and the

origin in z-plane goes to -1 in w-plane. ®
Slve £~y =5 by using Laplaco Transform given 1) - 10, (8)
Using convolution theorom find the inverse of . ®
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) Solve the simultangaps equations

D'%-Dy = cast ang

DDy = —sint whery p . d

Sivonthat v 21, b, o Oand Dy 4
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